BRAEVHEE-SIOTRERE (TR20EE)
O KW (EpE)

o BeLr | BLE | | | s
s (ppm) bpm

FXTTITY AV 20 0 0 —
TANT TP ALY 20 0 0 - *”%12’1
FRTH A2V 20 0 0 —
FLET 30 0 0 — 0.06
ANT 7 ATV 5 0 0 — 0.1
ZNT7IIV 5 0 0 — 0.10
AT 7E ) AN 5 0 0 — 0.02
ZNT 7 IANF T 5 0 0 — 0.2
FT T r=a—)L 5 0 0 — 0.02
FIVANTY I 5 0 0 — 0.05
YRR 5 0 0 — 0.05
TN — )L 20 0 0 — 0.010
O A ([EpE)

o BeLr | BLE | | | s

s (ppm) bpm
FX T ITY A 20 0 0 —
TANT TP ALY 20 0 0 - *”%T
FRTH A2V 20 0 0 —
FLET ) 30 0 0 — 0.03
ANT 7 ATV 5 0 0 — 0.1
ZNT7FIIV 5 0 0 — 0.10
AT 7E ) AN 5 0 0 — 0.01
ZNT 7O ANF 5 0 0 — 0.05
FT T r=a—)L 5 0 0 — 0.02
FIVANTY I 5 0 0 — 0.02
EYAZI 5 0 0 — 0.01
O WA (EpE)
. | s [memEo| |,

ot “iec | win | GBLE | i) LS i
FX T ITH AT 5 0 0 —
IO TIGY ALY 5 0 0 — ﬁgﬁf
FRFHASY 5 0 0 — '
AT AT 5 0 0 - 1
NN R= 5 0 0 - 0.05
ANT 7RGV 5 0 0 - 0.01
NI IRV 5 0 0 — 0.1
ANT 7 ) AR 5 0 0 — 0.1
ZNT 7P ANF L 5 0 0 — 0.05
ZNT 7R XYY 5 0 0 - 0.05
FX VY 5 0 0 - 1
FTTr=a—)v 5 0 0 — 0.02
FNWNANTY A 5 0 0 — 0.1
FIARTY 2 5 0 0 — 0.05
EYAKIY 5 0 0 - 0.05
FAINIRT 5 0 0 — 0.5
TN H S — )L 5 0 0 — 0.2
DDT 5 0 0 - 0.3
FLRY 5 0 0 - 0.01
T H T 5 0 0 — 0.2




O ®mIn (EpE)

et BELE | BLE | | | #
s (ppm) b
FXL TR A7) 6 0 0 —
IaNTFIYA Y 6 0 0 — ﬂ%f
FRIYA2Y 6 0 0 — '
ANT FRAZV 6 0 0 — 0.01
ANT IOV 6 0 0 — 0.01
AT 7 AN 6 0 0 — 0.01
ANT AN 6 0 0 — 1
ANT7X )X P 6 0 0 — 0.01
XV 6 0 0 — 0.05
FT T r=a—)L 6 0 0 — 0.01
FIWVANTY 2 6 0 0 — 0.01
RIARNTY 2 6 0 0 — 0.02
EYAZI 6 0 0 — 0.01
FA TN 6 0 0 — 0.01
TNARE — )b 6 0 0 — 0.4
O ‘B3 (H7E)
et BELE | BLE | | | #
s (ppm) b
FXL TR A7) 10 0 0 —
PEYESCRT 10 0 0 — | el
FrIHATY 10 0 0 — '
AT AT 10 0 0 — 0.2
ANT IOV 10 0 0 — 0.025
FT B — )b 10 0 0 — 0.1
DDT 10 0 0 — 0.02
FAIVRY 10 0 0 — 0.01
L a=Y% 10 0 0 — 0.006
O fAHE (Bv, OBY)  (EHE)
P BELE | BLE | g |l | B W
s (ppm) b
FxXT T A7 3 0 0 — 0.2
IV T NI AT 3 0 0 — 0.01
TR ATV 2 0 0 — 0.01
ANT FRAFV 2 0 0 — 0.01
ANT IOV 2 0 0 — 0.01
AT 7 AN 2 0 0 — 0.1
AT 7 AN 2 0 0 — 0.1
ANT X ¥ P 2 0 0 — 0.01
AT A4 — )L 2 0 0 — 0.1
XV 2 0 0 — 0.03
FT T r=a—)L 2 0 0 — 0.01




